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autonumout  (Reg. 1.1001-1) Sue owns farm land that was given to her by her father, when it had a FMV of $400,000. Sue’s father had paid $100,000 for the land. It is now worth $500,000. Sue trades the land for IBM stock worth $450,000 and cash of $50,000. What is Sue’s realized and recognized gain or loss?
	
	Realized Gain
	Recognized Gain 

	a.
	$100,000
	$50,000

	b.
	$400,000
	$50,000

	c.
	$400,000
	$400,000

	d.
	$500,000
	$500,000


autonumout  (Reg. 1.1001-2)  Joe bought a business asset for $10,000 in 1990. Joe purchased the asset by giving cash of $1,000 and a note payable of $9,000. After claiming depreciation of $3,100, the asset now has a basis of $6,900. The note payable currently has a balance of $7,600. 

This year, Joe sold the asset. The buyer paid Joe cash of $1,600 and assumed Joe’s debt of $7,600.  What is Joe’s recognized gain or loss on this sale?

	a.
	$0
	b
	$2,300
	c.
	$7,600
	d.
	None of these


autonumout   (CPAM91#23) In a "like‑kind" exchange of an investment asset for a similar asset that will also be held as an investment, no taxable gain or loss will be recognized on the transaction if both assets are:
	a.
	Convertible debentures.
	c.
	Partnership interests.

	b.
	Convertible preferred stock.
	d.
	Rental real estate located in different states.


autonumout   (CPAN90#30) Joan Reed exchanged commercial real estate that she owned for other commercial real estate plus cash of $50,000. The following additional information pertains to this transaction: 

	Property given up by Reed 
	

	Fair market value 
	$500,000

	Adjusted basis 
	300,000

	Property received by Reed 
	

	Fair market value 
	450,000

	Cash
	50,000


What amount of gain should be recognized in Reed's income tax return? 

	a.
	$200,000
	b
	$100,000
	c.
	$ 50,000
	d.
	$0   


autonumout  (CPA) The following information pertains to the acquisition of a six-wheel truck by Sol Barr, a self-employed contractor

	 Cost of original truck traded in
	$20,000

	 Book value of original truck at trade-in date
	4,000

	 List price of new truck
	25,000

	 Trade-in allowance for old truck
	 6,000

	 Business use of both trucks
	100%


The basis of the new truck is 

	a.
	$27,000
	b
	$25,000
	c.
	$23,000
	d.
	$19,000


autonumout  [Reg. 1.1031(a)-1(a)] The Post and Rail Partnership traded a piece of farm land with an adjusted basis of $4,000 for a farm tractor that has a fair market value of $9,000. 
What is the recognized gain or loss? 

	a.
	$5,000. 
	b.
	$4,000.
	c.
	$1,000.
	d.
	None, it is a like kind exchange.



autonumout   [Reg. 1.1031(a)-1(a)]  Which of the following property exchanges does not qualify as a like-kind exchange? 

	a.
	Exchange of city property for farm property

	b.
	Exchange of partnership interests

	c.
	Exchange of improved property for unimproved property

	d.
	Exchange of an ownership in real estate for a thirty year lease in real estate


autonumout   [Reg. 1.1031(b)-1(a)]  Joe traded his old truck for a new truck with a fair market value of $9,000.

Joe’s old truck had an adjusted basis of $10,000. Joe also received cash of $1,500 from the dealer.  What is the basis of Joe’s new truck? 

	a.
	$8,500
	b
	$10,500
	c.
	$10,000
	d.
	$9,000


autonumout   Henry exchanged an apartment building with an adjusted basis of $750,000 for another apartment building. Both properties have a fair market value of $2,000,000. In addition, Henry paid legal fees of $10,000 for the exchange transaction. What is the basis for depreciation of Henry’s acquisition? 

	a.
	$2,000,000
	b
	$750,000
	c.
	$2,010,000
	d.
	$760,000


autonumout  Rebecca owns real estate held for investment with an adjusted basis of $350,000, a fair market value of $600,000 and a mortgage of $100,000. Rebecca will trade her real estate for other real estate to be held for investment. The other party will assume the mortgage. The fair market value of the real estate Rebecca will receive is $500,000. She will pay legal expenses of $10,000 related to the transaction.   What amount of gain does Rebecca realize? 

	a.
	$100,000 gain
	c.
	$90,000 gain

	b.
	$240,000 gain
	d.
	$200,000 gain


autonumout  [Reg. 1.1031(b)-1(a)]  The Andee Partnership traded its panel truck with an adjusted basis of $10,000 for a new pick-up truck with a fair market value of $15,000. Andee also received $3,500 cash on the trade. What is the gain, if any, on this trade? 

	a.
	-0-. 
	b.
	$3,500. 
	c.
	$5,000. 
	d.
	$1,500. 


autonumout  Continue preceding question. What is Andee Partnership’s basis in the new pick-up? 

	a.
	-0-. 
	b.
	$10,000. 
	c.
	$15,000. 
	d.
	$13,500. 


autonumout  The Needle and Thread Partnership traded an old machine having an adjusted basis of $10,000 and cash of $2,000 for a new machine with a fair market value of $15,000. What is the recognized gain and what is the basis of the new machine? 

	
	Gain
	Basis

	a.
	 $-0-
	$12,000

	b.
	 $-0-
	$10,000

	c.
	$2,000
	 $15,000

	d.
	$3,000
	$12,000


autonumout   Tom owns a building held for investment purposes that has an adjusted basis of $150,000 and a fair market value of $440,000. This building is subject to a mortgage of $90,000. 
Bob would like to purchase Tom’s building and makes the following offer: 

• $50,000 in cash 

• Assumption of Tom’s mortgage 

• A building owned by Bob that he holds for investment purposes that has a fair market value of $300,000. (Bob’s building is not subject to a mortgage). 

What is Tom’s taxable gain if he accepts Bob’s offer and holds Bob’s building for investment? 

	a.
	$140,000
	b.
	$150,000
	c.
	$240,000
	d.
	$290,000


